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BELAR—I
BIEAR  FTIRYT NK—=X2Thvy ouT @@ ® OB
LRHD B 36 “i 36 N ®
BAEIESRL : DA-HDCP @hoyhn’ vo BGEESEIBRT - #9vhn )
I {31 A2 0UT| IN GROSS | HDCP | NET [ MEfi E £ ouT| IN GROSS | HDCP | NET [ NEf E % ouT| IN GROSS | HDCP | NET
1 |BEE fEz 40 |36 76 7.2 688 51 D #m 40 |38 781 48| 73.2( 101 [ =mA 53 | 48 101 | 26.4| 74.6
2 |BDF=Hp 45 |42 87 | 180 69.0 52 |#1+ [z 43 | 41 84 | 10.8 | 73.2| 102 |BEm %= 51 |50 101 | 26.4| 74.6
3 (%E #HE 36 |38 74| 4.8 692 53 [t Et 41 |43 84| 10.8| 73.2| 103 |RE EA 44 | 44 88 | 13.2| 74.8
4 |¥EA M 46 |51 97 | 27.6 | 69.4 54 |2 FH 43 | 41 84 | 10.8| 73.2| 104 |38 sk 42 | 46 88 | 13.2| 74.8
5 |[BH  FEi# 41 |42 83| 13.2| 69.8 55 |FTE His 39 |45 84 | 10.8 | 73.2 | 105 |ZAH&F 44 | 44 88 | 13.2| 74.8
b (£ B somr @ 36 |34 70 0.0 | 70.0 56 |3IH R— 42 | 42 84 | 10.8 | 73.2| 106 [#x 45 |43 88 | 13.2| 74.8
7|LE #a 36 |39 75 4.8 70.2 57 |2E & 44 | 46 90 | 16.8 | 73.2| 107 |F  #umk 45 |43 88 | 13.2| 74.8
8 [¥EE  pE3L 41 | 46 87 | 16.8 | 70.2 58 |MRERET vmtr |49 |53 102 | 28.8| 73.2| 108 @ = 44 | 44 88| 13.2| 74.8
9 Ik BE= 41 (38 79 8.4 70.6 59 |#L $&a 39 |38 7 36| 734 109 |[K&E &Iz 46 | 48 94 | 19.2 | 74.8
10 |B)I] iz 48 |55 103 | 32.4| 70.6 60 |k @ 41 | 42 83 9.6 | 734 110 |ktE =A 47 | 47 94 | 19.2 | 74.8
11 &AL 38 |40 78 7.2 70.8 61 |B@E ¥ 42 | 47 B9 | 15.6 | 734 11 [B =& 52 | 54 106 | 31.2| 74.8
12 |E 035 38 |40 78 7.2 70.8 62 |iTiE =F 37 |39 76 24| 73.6| 112 |iIiE =& 34 | 41 75 0.0 750
13 |[BE 5@ 38 |40 78 7.2 70.8 63 [ 4gZE 45 |37 82 84| 736 M3 |® HF 37 |38 75 0.0 750
14 P985 IE{d 37 |47 84| 13.2| 708 64 |&k&X Fk 41 | 41 82 84| 736 M4 |@AEx H 41 | 46 87 | 120 75.0
15 |BE B 45 |45 90 | 19.2 | 70.8 65 |FEE  {d 39 |43 82 8.4 | 73.6 | 115 [+ i@ 49 |44 93 | 18.0| 750
16 |40 & 46 |41 87 | 156 71.4 66 |54R {hER 44 | 44 88 | 14.4| 73.6| 116 ks yE= 48 | 45 93| 180 750
17 |BEBfh— 42 |45 87 | 156 | 71.4 67 |A1% BHE 42 | 46 88 | 14.4 | 73.6( 117 |FF; A= 49 |44 93 [ 18.0| 75.0
18 [ANl A 37 |37 74 24| 71.6 68 [;hEE 2 45 |55 100 | 26.4 | 73.6( 118 |E@ = 44 |49 93| 18.0| 750
19 (BNl EAl 37 |37 74 24| 7.6 69 |=ith A 44 |37 81 7.2 738 119 [N B 50 |55 105 30.0| 750
20 |RIREER 36 |38 74 24| 71.6 70 BEH =X 38 |43 81 7.2 | 73.8 | 120 [E:F A 39 | 41 80 | 4.8 75.2
21 |FE &= 38 |42 80 8.4 716 71 |@EL B 44 | 43 87 | 13.2 | 73.8| 121 |58 &= 44 |42 86 | 10.8 | 75.2
22 |tk = 37 |36 73 1.2 71.8 2 | EHiE 43 |44 87 | 13.2 | 73.8| 122 |EEtt ®mX 40 | 46 86| 10.8 | 752
23 |15/ =— 41 | 44 85| 13.2| 71.8 73 |{HE (2 45 |42 87 | 13.2 | 73.8| 123 |@iE BEE 38 | 48 8 | 10.8 | 75.2
24 =B = 48 | 49 97 | 25.2| 71.8 74 |¥AE Wik 45 | 48 93 | 19.2 | 73.8| 124 |mE ki 44 | 42 8 | 10.8 | 752
25 |f1: R 39 |39 78 6.0 720 75Nzt = 45 | 48 93] 19.2 | 73.8| 125 | tw& 43 |49 92 | 16.8 | 75.2
26 |HL BA 37 | 41 78 6.0 720 76 | Kt I 46 | 47 93| 19.2 | 73.8( 126 |=EERE+ 46 | 52 98 | 22.8 | 75.2
27 | KA B 41 |43 84| 120 72.0 7 |k = 54 |51 105 | 31.2| 73.8| 127 |fnm &= 42 |43 85 9.6 | 754
28 |17 HE 47 |49 96 | 24.0| 72.0 78 | &R 45 | 41 86 | 120 | 740 128 |#E #=— 39 |46 85 9.6 | 75.4
29 &L B 41 | 42 83| 10.8| 72.2 79 |MmE5 HeE 46 | 46 92 | 18.0| 740 129 |[FZ %k 43 | 48 91 | 15.6 | 75.4
ES =S 42 |47 89 | 16.8| 72.2 80 |Tay Bk 43 |49 92 | 18.0 | 74.0f 130 |HA®LL 46 | 45 91 | 15.6 | 75.4
31 |[BE 7R 46 |43 89 | 16.8 [ 72.2 81 [tH# 8§ 48 | 44 92 | 18.0 | 740 131 [mp E=— 43 | 48 911 15.6 | 754
32 |BiE o 44 | 45 89| 16.8| 72.2 82 |ZE B 54 |50 104 30,0 740 132 [k & 54 |43 97 | 21.6 | 75.4
33 |RE f5— 45 |50 95 | 22.8| 72.2 83 |#HL+ m 40 |39 9 48| 742\ 133 |t =B 53 | 44 97 | 21.6| 75.4
34 |WE @E 33 |37 0| -24| 72.4 84 |#EEE=ER 43 | 42 85| 10.8 | 742 134 |t 7 47 |50 97 | 21.6 | 75.4
35 [k BE 37 139 76 3.6 | 72.4 85 |83 o 45 | 40 85 | 10.8 | 742 135 |mi& e 48 |49 97 | 21.6 | 75.4
36 |FiR E— 45 |49 9| 21.6| 72.4 86 |k R 46 | 51 97 | 22.8 | 742 136 |BEE EER bt {57 103 | 27.6 | 75.4
37 |FE Ex 40 |41 81 8.4 72.6 87 |tkA #%8f 42 |42 84 9.6 | 744\ 137 [giE @ 51 |58 109 33.6| 75.4
38 |P9g IEfé 41 (40 81 8.4 72.6 88 |tk & 42 |42 84 9.6 | 744 138 |ethEiER 40 | 44 84 8.4| 75.6
39 |HEE R 38 |43 81 8.4 72.6 89 |28 Eif 41 |49 90 | 15.6 | 744 139 |EEHx 44 | 46 90 | 14.4| 756
40 (E@ ZF=— 43 | 44 87 | 144 72.6 90 |=ZF = 45 |45 90 | 15.6 | 744 140 |=+ maE 46 |50 96 | 20.4 | 75.6
41 2R B 37 |37 74 1.2] 728 91 |FEIER fEAE 42 |48 90 | 15.6 | 744 141 [EH WE 54 |48 102 | 26.4 | 756
42 |EE HE 37 |43 80 7.2 | 72.8 92 |EiEE IE 48 |48 96 | 21.6 | 744 142 |EREHMIA 49 |53 02| 26.4 | 756
43 |{EE (258 41 | 45 86| 13.2| 72.8 93 |5 14 42 | 41 83 8.4 | 74.6| 143 |4t#t L 51 |51 102 | 26.4| 756
44 iR iz 45 | 47 92| 19.2| 72.8 94 |&% = 42 |41 83 8.4 | 746 | 144 |HiEREE 45 | 44 89 | 13.2| 758
45 (LR ikt 47 | 45 92 ] 19.2| 72.8 95 JI# = 48 | 41 89 | 14.4| 746 145 |TH =i 42 | 47 89 | 13.2| 75.8
46 |5 HF v |39 |40 79 6.0 73.0 96 [N L #s5E 40 |49 89 | 14.4| 746 | 146 |KMy =& 46 |49 95 | 19.2 | 75.8
47 |#gEE=ER 39 |40 79 6.0 730 97 |&EH A 44 | 45 89 | 14.4 | 746 | 147 [#BANE—ER 43 |52 95 | 19.2 | 75.8
48 |tk &= 42 |43 85| 120 | 73.0 98 |®A H— 48 | 41 89 | 14.4| 746 148 |BE BT 47 | 48 95 | 19.2 | 75.8
49 [B#5  Eik 46 |45 91 | 180 73.0 99 (MO @A 45 |50 95 | 20.4 | 746 149 |[=E Ex 39 | 37 76 0.0| 76.0
50 |88 E— 53 |50 103 ] 30.0] 730 100 [=F f@— 51 |44 95 | 20.4| 746 150 |E@ B 38 | 44 82 6.01 76.0
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LIRHD 2% 36 it 36 I N @@ ®Go
BSEIERL : DN-HDCP  @p9yn° v BGEESENERT - p9vpn 9o
JIE iz N 0UT| IN GROSS | HDCP | NET [ IEf E & 0uT| IN GROSS | HDCP | NET [ MEfs E £ 0UT| IN GROSS | HDCP [ NET
151 |ZE 3AF 46 | 42 88 | 120 | 76.0( 201 |[xix =E 47 | 42 89 | 120 7.0 251 [BZ@ %= 48 |53 101 | 22.8] 782
152 |{&E@E  HIE 43 | 45 88 | 1220 | 76.0 | 202 |lum m=mE 45 |44 89 | 120 | 7.0 252 |ZE & 54 |53 107 | 28.8 | 78.2
153 |hEF FH— 41 |47 88 | 120 | 76.0| 203 |&m #tF 49 | 46 95 | 18.0 | 77.0 | 253 (54 &&= 42 | 46 88| 9.6 78.4
154 |48  EF 52 |48 100 | 240 76.0 | 204 |B#E @5 44 | 51 95| 18.0| 77.0| 254 [yt 49 | 45 94 | 15.6 | 78.4
165 |MEEP ik 47 |53 100 | 24.0 ) 76.0( 205 |50 %HH— 45 |50 95 | 18.0| 77.0 | 255 |#t =g 46 | 48 94 | 15.6 | 78.4
156 |SEER i 54 | 46 100 | 24.0| 76.0 | 206 |Heh B 48 | 47 95 | 18.0 | 77.0( 256 |vrm fnzk 52 | 42 94 | 15.6 | 78.4
157 |84 #= 48 |52 100 | 24.0 | 76.0 | 207 |fk@E #pig 50 |51 101 | 24.0| 77.0( 257 | f{heR 47 |53 100 21.6 | 78.4
158 |BAEF $2E 50 |50 100 | 24.0| 76.0 | 208 [t :3— 55 |52 107 | 30.0 | 77.0 || 258 |#r& 18 47 |53 100 | 21.6 | 78.4
159 |&&H = 53 |59 112 ) 36.0 | 76.0 209 |#f s&:& 53 |54 07| 300 77.0( 259 {lu@ #H= 45 | 55 00| 21.6 | 78.4
160 | TZE g 45 |42 87 | 10.8 ] 76.2 | 210 |@H R 55 |52 107 | 30.0 | 77.0 | 260 |t a4 51 |49 100 | 21.6 | 78.4
161 |[#3@ & 46 | 41 87| 10.8| 76.2] 211 |[mes A 47 | 41 88 10.8 | 77.2| 261 [fiE B3¢ 48 |52 100 | 21.6 | 784
162 |HME @0 45 |42 87 | 10.8 | 76.2 | 212 [4£mE o 41 |47 88| 10.8 | 77.2 | 262 |EmLzEEq 54 |52 106 | 27.6 | 78.4
163 |E&EEF 48 |45 93 | 16.8 | 76.2 | 213 |=i5 faw 49 | 45 94| 16.8 | 77.2 || 263 |BRE g 56 | 50 106 | 27.6 | 78.4
164 | KRB FHX 49 |44 93 | 16.8 | 76.2 | 214 lu=E =g 49 | 45 94| 16.8 | 7.2 | 264 |fPE = 51 |55 106 | 27.6 | 78.4
165 |55 =% 48 | 45 93 | 16.8 | 76.2 | 215 |k =t 51 |49 100 | 228 | 77.2 || 265 |4 wmi= 45 | 42 87 8.4 | 786
166 |Z@ X4 44 | 49 93 | 16.8 | 76.2 || 216 |BRER Fn= 51 |55 106 | 28.8 | 77.2 || 266 [z muz= 49 | 44 93 | 14.4 | 78.6
167 |#%M B8 44 |49 93 16.8 | 76.2 | 217 |m g% 55 |51 106 | 28.8 | 77.2 || 267 |88 wm= 43 | 50 93 | 14.4 | 78.6
168 | =48 &= 46 |47 93| 16.8 | 76.2| 218 R == 40 | 41 81 36| 77.4| 268 [BrmESs 51 |48 99 | 20.4 | 78.6
169 |IFA =3 46 |47 93 | 16.8 | 76.2 | 219 b4t i 44 | 37 81 3.6 | 77.4| 269 &k gEi 50 |49 99 | 20.4 | 78.6
170 |B35EF) 7 46 | 47 93 | 16.8 | 76.2 || 220 [I/A — 44 | 43 87 9.6 | 77.4 | 270 |+48 T 49 |50 99 | 20.4 | 78.6
171 | k¥ 46 47 | 46 93 [ 16.8 | 76.2 || 221 [E®H 1E= 45 |48 93| 15.6| 7.4 271 [8lm & 53 |58 1] 324 786
172 |24 ®E 47 |52 99 | 22.8 | 76.2 | 222 [%E = 46 | 47 93| 15.6 | 7.4 272 [t m=* 42 |44 86| 7.2 788
173 |AR#EE 52 |47 99 | 22.8 | T76.2| 223 |EEH mAEk 48 | 51 99 | 21.6 | 7.4 213 |t£EE 1875 47 | 51 98 | 19.2 | 78.8
174 |h0#  FH 50 |49 99 | 228 | 76.2 | 224 |#Ak A= 48 | 51 99 | 21.6 | 7.4 214 |BA = 49 |49 98 | 19.2| 78.8
175 | A+ Fis 56 |49 106 | 28.8 | 76.2| 225 (B = 49 | 50 99 | 21.6 | TT.4| 215 | B @z 44 | 54 98 | 19.2 | 78.8
176 |2A % 62 |49 M1 348 76.2( 226 |Meh == 47 | 52 99 | 21.6 | T7.4| 276 |HEm /I 49 |49 98 | 19.2| 78.8
177 9BO  8E 46 | 46 92 [ 15.6 | 76.4 || 227 |mE {p= 56 | 49 106 | 27.6 | 77.4 | 277 3rE B/ 51 |53 104 | 25.2| 78.8
178 |BAEE EEA 46 | 46 92 | 15.6 | 76.4 | 228 |I &= 40 | 40 80 24| 77.6|( 278 |HEFHB 54 |50 04| 25.2| 78.8
179 |Es SF 49 |43 92 | 15.6 | 76.4 || 229 |{#ak —x 45 | 47 92 | 144 | T7.6| 279 [k BE 52 |58 1o | 31.2 | 788
180 |40 45— 47 | 45 92 | 15.6 | 76.4| 230 [iFA w©m 46| 46 92 | 14.4 | 77.6| 280 |#xEmE & 53 |57 110 | 31.2 | 78.8
181 |gliE EH 49 | 49 98 | 21.6 | 76.4| 231 [mIrEZ# 58 |46 104 | 26.4 | 77.6 | 281 |Auy @@= 45 | 46 91 | 120 79.0
182 |R# H& 48 | 50 98 | 21.6 | 76.4 | 232 |[@A 45 | 46 91| 13.2| 77.8 | 282 |2F e 42 | 49 91 | 120 79.0
183 |A# Fii 55 149 104 | 27.6 | 76.4 | 233 |g=E = 43 |48 91 | 13.2 | 77.8 | 283 |[HARLL 44 | 47 91 | 12.0| 79.0
184 |A#T i 51 |53 104 | 27.6 | 76.4 ) 234 |B) mR= 53 | 44 97 | 19.2 | T77.8 | 284 |MMEZ 4 44 | 47 91 | 1220 | 79.0
185 [/\E Z=E— 48 | 56 104 | 27.6 | 76.4 | 235 |H& iEs® 50 |47 97 | 19.2 | 77.8 | 285 |mEym wmwm 56 |41 97 | 18.0| 79.0
186 |1EME & 43 | 42 85| 84| 766 23 |BmE &®: 48 | 49 97 | 19.2 | 77.8 | 286 |{k@E k8B 47 |50 97 | 18.0 | 79.0
187 |BA& &= 42 |43 85 | 8.4 | 76.6| 237 |[TR=E 51 |52 103 | 25.2 | 77.8 | 287 |tk ®m— 47 | 50 97 | 18.0 | 79.0
188 |=&% B= 45 | 46 91| 14.4 | 76.6 || 238 |12 =BT 53 |50 103 | 26.2 | 77.8 [ 288 |5 %— 46 | 51 97 | 18.0 | 79.0
189 7}<;=-£$—3$§£ 46 | 45 91 | 14.4 | 76.6| 239 |k —z== 50 |53 103 | 25.2 | 77.8 [ 289 |i&H wmx 51 |52 103 240 79.0
190 | KA == 55 |48 103 | 26.4 | 76.6 | 240 |Z5M /ABR 41 |43 84 | 6.0 78.0f 290 |$54 iumm 42 |48 30 ( 10.8 | 79.2
191 |25 m’ 48 |55 103 | 26.4 | 76.6 | 241 |E@m = 47 143 90 | 120 780 291 |RE &= 48 |54 102 22.8 | 79.2
192 |#8E & 51 |52 103 | 26.4 | 76.6| 242 |kEzsge 48 |48 9 | 18.0 | 78.0| 292 |tm W 49 |53 102 | 22.8 | 79.2
193 |50 &= 46 |57 103 | 26.4 | 76.6 | 243 |[{£8& o 50 |46 96 | 18.0 | 78.0| 293 |Bz (2L 51 | 51 02| 228 79.2
194 | K= 1FiA 53 |56 109 | 324 76.6| 244 [k R 46 |50 96 | 18.0 | 78.0 204 |vE EE 43 | 40 83 3.6 | 79.4
195 |3R4E BA 39 |51 90 | 13.2| 76.8 | 245 |B@E == 55 |53 108 | 30.0| 78.0( 295 |7E@ Bex 45 |44 89 9.6 | 79.4
19 |8 i#E 46 | 44 90 | 13.2| 76.8 | 246 |BRER tE@xr 52 |56 108 | 30.0| 78.0( 296 |5@ 2R 49 |46 95 | 15.6 | 79.4
197 [;AI5F #AIF 45 | 45 90 | 13.2 | 76.8 | 247 [luFE =gy 41 |48 89 [ 10.8 | 78.2( 297 =47 mE% 51 |50 101 21.6 | 79.4
198 (M g 51 |45 96 | 19.2 | 76.8 | 248 B % 50 |45 95 | 16.8 | 78.2 | 298 |MAx s+ 46 |55 101 21.6 | 79.4
199 [E0 WB{= 37 |40 T( 00| 77.0| 249 B8 = 51 |44 95 | 16.8 | 78.2 | 299 |k#f mE 53 |48 101 21.6 | 79.4
200 |RE 4303 37 140 771 00| 77.0 250 |g5+ pE% 47 |48 95 | 16.8 | 78.2 || 300 |®mm IET 44 | 44 88 | 84| 79.6
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JL—HB :2023%F018178 ~ 202345018218 B Lk—)L
FREEAR S TINRUTFT N—=X2Thwv b ouT 2@ ® @®®

FBRHD S1% 36 it 36 I N 00 O@
ESEERL - DI-HDCP @iy bn v BGEESEINERT - hI/b o
[ E % ouT| IN GROSS | HDCP | NET [ NEf: A 0uT| IN GROSS | HDCP | NET | WEf: K £ 0uT| IN GROSS | HDCP | NET
301 &5 =88 41 |59 100 | 20.4 | 79.6 | 351 @K %£=— 52 |49 101 19.2 | 81.8 [ 401 |P9E *%EfF 57 | 54 1M1 240 87.0
302 || Ay 49 | 51 100 | 20.4 | 79.6 | 352 | 2 47 | 60 107 | 25.2 | 81.8 | 402 |&ZTF /A 65 | 58 123 | 36.0| 87.0
303 (A mk 55 | 51 106 | 26.4 | 79.6 [ 353 |E& kim 63 |50 M3 | 31.2 | 81.8 403 [#N 455 58 | 65 123 | 36.0 | 87.0
304 2R }z 56 |56 12| 324 | 79.6 | 354 |tk 54 |52 106 | 24.0 | 82.0| 404 |FEtt 2= 60 | 63 123 | 36.0 | 87.0
305 |FGAL A 47 |52 99 [ 19.2 | 79.8 | 35 |BEx T 54 |52 106 | 24.0 | 82.0| 405 |&5@m == 60 |61 121 | 33.6| 87.4
306 |Etig BT 51 |48 99 | 19.2 | 79.8 | 356 |mE 52 |59 111 28.8 | 822 406 |FM H2 60 |58 118 | 30.0 | 88.0
307 ({=M mAk 48 |57 105 25.2| 79.8| 357 |@m AFE 58 |53 111 28.8 | 822 407 |/hé% I 64 | 60 124 | 36.0| 88.0
308 [/hix BE= 54 | 51 105 | 25.2 | 79.8| 358 k@ m= 53 |58 1M1 28.8 | 822 | 408 |=F == 61 |63 124 | 36.0| 88.0
309 | tE #3 51 |54 05| 25.2 | 79.8 359 LBy T 39 |47 86 3.6 | 8241 409 NA& HE 65 | 51 116 | 27.6 | 88.4
310 (#t.F &7 51 |54 105 | 25.2 | 79.8 360 |8 = 57 |47 104 | 21.6 | 82.4| 410 |EEH M7 64 |51 115 | 26.4 | 88.6
3N (B R 49 |56 106 | 25.2 | 79.8 | 361 |[£m z=sg 52 |52 104 | 21.6 | 82.4 | 411 |2 B 67 |58 125 | 36.0| 89.0
312 |[IWFE EF 60 |51 M| 312 79.8] 362 |B#8 =% 54 |56 110 | 27.6 | 82.4| 412 |Et =7 70 | 54 124 | 34.8 | 89.2
313 |[Bh A 57 |54 M| 312 79.8( 363 [MhEEXRF 48 |49 97 | 144 | 826 413 |=+ IEF 50 | 58 108 | 18.0 | 90.0
314 |&2@A BE 51 | 60 M1 31,2 | 79.8( 364 e e 52 |51 103 | 20.4 | 82.6| 414 |KE heg 64 | 61 125 | 34.8 | 90.2
315 (R BH 51 |47 98 | 18.0 | 80.0 365 |=m=m 2 60 |48 108 | 25.2 | 8281 415 [y BF 60 | 56 116 | 25.2 | 90.8
316 |k Fpan 50 |48 98 | 18.0| 80.0| 366 [ = 51 |50 101 | 180 | 830 416 |BhEE JEF 65 | 63 128 | 36.0| 92.0
317 |BmE AT 48 |50 98 | 18.0 | 80.0 367 [m K= 64 |49 113 ] 30.0 | 830 417 | E#fn 64 | 65 129 | 36.0| 93.0
318 B BARS 54 | 50 104 | 24.0( 80.0( 368 |[®hs B& 58 |61 119 | 36.0 | 830 418 |=E @k 65 |64 129 | 36.0{ 93.0
319 (B3R b M 58 |52 10| 30.0( 80.0| 369 |2k =% 55 | 51 106 | 22.8 | 83.2| 419 |&Bgy Bix 62 | 67 129 | 36.0] 93.0
320 (Rl R= 60 |56 116 | 36.0 | 80.0 | 370 |84 m= 60 |52 112 | 28.8 | 83.2| 420 |+ (=@ 63 | 70 133 ] 36.0 | 97.0
321 @A T 60 |49 109 | 28.8 | 80.2[ 371 (& B+ 58 |54 12| 28.8| 832 | 421 |#%E HEs 61 |72 133 ] 36.0[ 97.0
322 |BAthRpmEE 52 |50 102 | 21.6 | 80.4 | 372 g o= 62 |49 M| 27.6 | 83.4| 422 |=& 4 67 | 68 135 | 36.0| 99.0
323 (Wil RFT 54 |54 108 | 27.6 | 80.4| 373 |53 (& 53 |45 98 | 14.4 | 83.6 | 423 |ZHL KA 71 | 66 137 | 36.0 101.0
324 |58 #aEE 44 | 45 89 8.4 | 80.6( 374 |®W& At 57 |53 110 | 26.4 | 83.6| 424 |Em 3RE 64 | 76 140 | 36.0 | 104. 0
325 (L BE 54 |47 101 | 20.4 | 80.6| 375 [/h#h R 48 |55 103 | 19.2 | 83.8| 425 g0 == 68 |74 142 | 36.0 | 106. 0
326 [0 SFA 52 |49 101 | 20.4 | 80.6( 376 [£FIN = 56 |53 109 | 25.2 | 83.8 42 (k% =M 78 | 64 142 | 36.0 | 106.0
327 |E# eas 61 |52 M3 | 32.4| 80.6( 377 |m: A 62 |53 115 | 31.2 | 83.8| 427 |meh ety 79 |66 145 | 36.0 | 109.0
328 |4 RER 61 |52 13| 324 | 80.6( 378 Nt =g 50 |52 102 | 18.0| 84.0| 428 &+ 18 77 |70 147 | 36.0 | 111.0
329 |BA EH a7 | 47 94 | 13.2 | 80.8| 379 [B)I| = 55 |47 102 | 18.0 | 840 429 |BEy =mE 77 |72 149 | 36.0] 113.0
330 [LUFE  =A| 49 | 45 94 | 13.2 | 80.8 | 380 [#Am = 56 | 64 120 | 36.0 | 84.0( 430 Y8 24 84 |73 157 | 36.0 | 121.0
331 [4E -+ 47 | 53 100 | 19.2 | 80.8 381 [#AH @ 53 |48 101 ] 16.8 | 84.2
332 |BERE HETT 55 | 57 112 31.2| 80.8( 382 =i =& 57 |50 107 | 22.8| 84.2
333 (MO EM% 57 |55 M2 31.2 | 80.8( 383 |=% 3% 52 |55 107 | 22.8| 84.2
334 |A$ RS 51 |48 99 | 18.0 | 81.0| 384 |mEE == 52 |61 113 ] 28.8| 84.2
335 [f8@ =8 45 | 54 99 | 18.0| 81.0( 38 |TFuN = 60 |59 119 | 34.8| 84.2
336 |/h@E —3k 46 |53 99 | 18.0| 81.0| 386 |&Em == 53 |58 1M1 26.4 | 84.6
337 [hd& @I 57 148 105 | 24.0 | 81.0| 387 [tk Fi%: 51 |59 110 | 25.2 | 84.8
338 NI &) 55 | 50 105 | 24.0 | 81.0 | 388 |fziEfARR 57 |59 116 | 31.2 | 84.8
339 |HHFEE 49 | 55 104 | 22.8 | 81.2( 389 [/\iE m=man 51 |58 109 | 240 8.0
340 [ BN E— 53 | 51 104 | 22.8 | 81.2 | 390 |4 =5 53 |67 120 | 34.8 | 85.2
341 [RFE A 56 | 60 116 | 34.8 | 81.2| 391 [kEE & 59 |48 107 | 21.6 | 85.4
342 (@A 588 43 | 48 91 9.6 | 81.4 | 392 |#hEE—ER 56 |51 107 | 21.6 | 85.4
343 |&RR =R 56 | 53 109 | 27.6 | 81.4| 393 |4\ PER 50 |57 107 | 21.6| 85.4
344 (M % 53 | 56 109 | 27.6 | 81.4( 394 |/NELEEx 60 |59 119 | 33.6| 854
345 |ER AT 39 | 51 90 8.4 | 81.6( 395 |vm 3 55 |54 109 | 22.8| 86.2
346 (2@ fE 53 |49 02| 20.4 | 81.6( 39 |+B &k 55 |52 107 | 20.4| 86.6
347 [IhE  fBE 59 |49 108 | 26.4 | 81.6| 397 |t 1= 53 |60 113 | 26.4 | 86.
348 WA =Z 58 |56 114 | 3224 81.6 | 398 [H¥E gz 56 |57 113 | 26.4| 86.6
349 Bk 7t 53 |48 101 | 19.2 | 81.8{ 399 [=ik =@ 58 |61 119 | 32.4| 86.6
350 [{EmEm%ET 53 | 48 101 ] 19.2 | 81.8( 400 [=t7 57 |55 112 | 25.2 | 86.8
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